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(2) =R (300 K)WFE T , I ZRE 8/ME SR o, BT
VUD

101V
Rl |1 kO R
AVop Ao
To
D| ra
D, raz
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. 17 .



LIS 7 (- R=1k0
0 E wt ¥ 2
4 :
vl V ! !] T 0.6V L)
™
0.7 l B 400 -
0 \/ wt (=2 J_ o
| SN

(a) (b)

v/ V

w!

<

a
g,
; <

(=]
f=z]
{
oo

;

wf

(c)

Elf#2.4.6

(2) IFE SR mBEmE®m2.4.7b xR, B V,=0.5V,r,=200 Q, 350<]2,/<0.5V
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Ik, ve(t) =0 (#)=0:2 v, () 3 0", (£)=5.7T V, B »,(£)=>28.5 VB, D B3, vslt) =
5.7Ve vo(e)WBIE N 2.4.10c FiR,
2.4.11 A E2.4.8 Bras BRI RN R v = f(o)  ERIITERBEEL V, =0.6 V,
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v, =10 sin wt VAL, BiHEBEE o, BIEE,
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I
\
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|
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o
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D
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Vieer —.
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0.7 V<, <0B,D, #1k, vy = v
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EEFHME R 100 Q. I3 % 0.5 W &4 6 BH/ BR % e Bl
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PS2.2 R—mETREE 0.7 VINEERET B4, ¥R A - 30 T3 50 C ZH 23,
REMEMBRRBR GERDHEBZ . FHBERA i, =1 (e™ - 1), K I,=10" A, n
=208 21,38 X WC2 I/K,g=1.6 X103 C,

e i s ol e e e 5
: (700.000m, 178 .843m

'
1
1
1
I
'
]
I

106mA-

1

|
i
i
i
! 9
v
i
i
|
1
1
1

i (700.000m,2 8589m) ,n‘
ﬂJI;—: La] ©7

oy A 0.8U 1.20
o (le-8)x(exp(((1.6e-19)*U_UD)/(2*(1.38e-23)*243))-1)
o {(1e-8)*(exp(({1.6e-19)*U_UD)/(2x%(1.38e-23)%323))-1)
u_up i

% Ps2.2

R BETARE INAL4S, 15T BP0 LR, 3 0 B AT BT, e 45 U AL 2 40 P i
PS2.2 franmiisk. WEIRE LB KB SR/ RZ AN 62.56,
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vy = v, = 10 sinwt (V) ,3K v, BIIEIE . R
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